Answers to Exercise – Chapter 4
Answer – Exercise 1

	Year
	Installments
	Present value (10%)
	PV of installments

	
	$
	
	$

	0
	100,000
	1
	100,000

	1
	100,000
	0.909
	90,900

	2
	100,000
	0.826
	82,600

	3
	100,000
	0.751
	75,100

	
	400,000
	
	348,600


After discounting, the fair value of the consideration is in fact $348,600. The difference between the fair value and the nominal amount of the consideration $51,400 ($400,000 – $348,600) is recognized as interest income in the books of XYZ Ltd.

Examination Style Question
Answer 1

(a)(i)

Revenue is the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an enterprise when those inflows result in increases in equity, other than increases relating to contributions from equity participants.

(a)(ii)

When goods are sold in exchange for dissimilar goods or services, the exchange is regarded as a transaction which generates revenue. The revenue is measured at the fair value of the goods or services received, as adjusted by the amount of any cash or cash equivalents transferred. When the fair value of the goods or services received cannot be measured reliably, the revenue is measured at the fair value of the goods or services given up, as adjusted by the amount of any cash or cash equivalents transferred.

(b)(i)

Best Advice Ltd has two basic alternatives. It could recognize revenue according to the hours worked by the personnel, or according to the amounts billed.

In a situation where the company can estimate accurately the number of hours to be worked by each person and the rate at which those hours can be billed, revenue should be recognized on the basis of the hours worked by its personnel.

The recognition of revenue according to the amounts billed does not provide any conceptual advantage over the hours-worked alternative, but may be more convenient because it is based on information generated by the company’s accounting system.

(b)(ii)

When services are performed by an indeterminate number of acts over a specified period of time, income is recognized on a straight-line basis over the specified period unless some other better method is available. The initial fee should be deferred and recognized as revenue over the lifetime of the related membership by the straight-line method.

The continuing membership fees should be recognized as earned, i.e. each month as the member is obligated to pay them.

(b)(iii)

Francisco Ltd should recognize dividends from Ted Ltd in its 2001 accounts as the shareholders approved the dividends at the general meeting on 15 April 2001.

Francisco Ltd can recognize the dividends declared by Fed Ltd in its 2000 accounts, since a holding company can recognize dividends from a subsidiary at the end of the subsidiary’s financial period, even though these dividends are only formally declared afterwards. Francisco Ltd’s right to receive dividend payments from Fed Ltd is already established by its control over Fed Ltd.

Answer 2
(a)(i)

HKAS 18 states that the revenue from rendering services should be recognised when the outcome of a transaction involving the rendering of services can be reliably estimated.

Revenue associated with the transaction should be recognised by reference to the stage of completion of the transaction at the balance sheet date and the outcome of the transaction.

The outcome of a transaction can be estimated reliably when all the following criteria, as specified in HKAS 18, have been met:

a.
the amount of revenue can be measured reliably;

b.
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

c.
the stage of completion of the transaction at the balance sheet date can be measured reliably;

d.
the costs incurred in the transaction and the costs required to complete the transaction can be measure reliably.

Depending on the nature of service, the stage of completion of a transaction can be determined by (a) surveys of work performed; or (b) services performed to date as a proportion of the total services to be performed; or (c) the proportion of costs incurred to date to the estimated total costs of the transaction.

(a)(ii)

Under HKAS 18, revenue is recognised when it is probable that future economic benefits will flow to the enterprise and these benefits can be measured reliably; it is usually applied separately to each transaction.

Revenue from the sale of goods should be recognised when all the following criteria, as specified in HKAS 18, have been met:

a.
the enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;

b.
the enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

c.
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

d.
the amount of revenue can be measured reliably; and

e.
the costs incurred or to be incurred in respect of the transaction can be reliably measured.

Revenue arising on the transaction should be recognised by reference to the agreement between the enterprise and the buyer and determined when an enterprise has transferred the significant risks and rewards of ownership to the buyer by the transfer of legal title or the passing of possession.

(b)

The journal entries required to record the installment sales transaction are:

	
	
	Dr ($)
	Cr ($)

	1 Jan 2004
	Bank
	200,000
	

	
	Accounts receivable
	338,000
	

	
	Sales
	
	538,000

	
	
	
	

	1 Jan 2005
	Bank
	200,000
	

	
	Accounts receivable
	
	178,600

	
	Interest income
	
	21,400

	
	
	
	

	1 Jan 2006
	Bank
	200,000
	

	
	Accounts receivable
	
	159,400

	
	Interest income
	
	40,600


Workings:

	Year
	Installment
	Discount factor
	Present value
	Interest

	
	$
	@12%
	$
	$

	2004
	200,000
	1.000
	200,000
	0

	2005
	200,000
	0.893
	178,600
	21,400

	2006
	200,000
	0.797
	159,400
	40,600

	
	
	
	538,000
	62,000


(c)

	
	
	Dr ($)
	Cr ($)

	1 Jan 2004
	Bank
	210,000
	

	
	Franchise revenue
	
	70,000

	
	Unearned franchise revenue
	
	140,000

	
	
	
	

	1 Jan 2004
	Bank
	25,000
	

	
	Service fee received
	
	25,000

	
	
	
	

	1 Jan 2005
	Unearned franchise revenue
	70,000
	

	
	Franchise revenue
	
	70,000

	
	
	
	

	1 Jan 2005
	Bank
	25,000
	

	
	Service see received
	
	25,000


Answer 3

(a)

HKAS 18 defines revenue as “the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an entity when those inflows result in increases in equity, other than increases relating to contributions from equity participants”.

(i)
When there is an agreement between the entity and the buyer of the asset, revenue shall be measured at the fair value of the consideration received or receivable taking into consideration the amount of any trade discounts and volume rebates allowed by the entity.

(ii)
When goods or services are exchanged or swapped for goods and services which are of dissimilar nature and value, the revenue is measured at the fair value of the goods or services received, adjusted by the amount of any cash or cash equivalents transferred.

(b)(i)

(1)
the enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;

(2)
the enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

(3)
the amount of revenue can be measured reliably;

(4)
it is probably that the economic benefits associated with the transaction will flow to the enterprise; and

(5)
the costs incurred or to be incurred in respect of the transaction can be measured reliably.

(b)(ii)

HKAS 18 specifies that revenue arising from the use by others of enterprise assets yielding interest, royalties and dividends should be recognized when:

(1)
it is probable that the economic benefits associated with the transaction will flow to the enterprise; and

(2)
the amount of the revenue can be measured reliably.

(c)

(1)
In accordance with the requirements of HKAS 18, the initial fee of the rights from the franchise for $160,000 should be treated as a deferred item and should be recongised in future periods of four years as revenue. The annual fee of $50,000 should be recorded as revenue for each year. Therefore, the amount of revenue to be recognized as revenue for this transaction for the year ended 30 September 2005 shall be $90,000 ($160,000/4 years + $50,000).

(2)
HKAS 18 requires that fees and royalties paid for the use of an enterprise’s assets are normally recognized in accordance with the substance of the agreement. An assignment of rights for a lump sum of $500,000 under a non-cancellable contract which permits the distributor to use the right freely and where Bestwork Limited has no rights to access the benefit generated from the film is, in substance, a sale. In this case, revenue should be recognized at the time of sale, that is, the effective date of the agreement of 1 June 2005. The amount to be recognized as revenue for the year ended 30 September 2005 should be $500,000.

(3)
In accordance with HKAS 18, subscriptions received on 1 February 2005 for which magazines have not yet delivered to the customers should be treated as deferred income. An amount of $42,000 ($252,000 x 6/36) should be recognized as revenue for the year ended 30 September 2005 and the balance of $210,000 should be recognized as a liability.

Answer 4

(a)

When the outcome of a transaction involving the rendering of services can be estimated reliably, in accordance with HKAS 18, revenue associates with the transactions shall be recognized using the stage of completion of the transaction at the balance sheet date.

HKAS 18 provides that the outcome of a transaction involving the rendering of services can be estimated reliably when the following conditions are satisfied:

(i)
the amount of revenue can be measure reliably;

(ii)
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

(iii)
the stage of completion of the transaction at the balance sheet date can be measured reliably; and

(iv)
the costs incurred for the transaction and the costs to complete the transaction can be measured reliably.

HKAS 18 also requires that revenue shall be recognized only to the extent of the expenses recognized that are recoverable when the outcome of the transaction involved the rendering of services cannot be estimated reliably.

(b)

Based on the requirements of HKAS 18, revenue is normally recognized when the buyer accepts delivery, and installation and inspection are complete. In the case of Vkeir Limited, 80% of the total sales invoice value (that is, the price of furniture and fixtures) shall be recognized at the date of goods accepted by customers.

However, when the selling price of a product includes an identifiable amount for subsequent servicing; in accordance with the requirements of HKAS 18, that amount of subsequent servicing is deferred and recognized as revenue over the period during which the services is performed. The amount of deferred revenue is those which cover the expected costs of the services under the agreement, together with a reasonable profit on those services. In this case, 20% of the total sales invoice value shall be recognized when the furniture and fixtures have been successfully fitted at customers’ premises.
The existing accounting policy of recognizing sales revenue only when the furniture and fixtures had been successfully fitted is not correct in accordance with the requirements of HKAS 18. The revenue for sale of product, that is the furniture and fixtures, is deferred and this will lead to incorrect understatement of revenue at the year-end.

One of the underlying assumptions given in the “Framework for the Preparation and Presentation of Financial Statements” is the accrual basis. Under the accrual basis, the effects of transactions and other events are recognized when they occur, rather than when cash is received or paid; and they are recorded in the accounting records and reporting in the financial statements of the periods to which they relates.

Mr. Wan’s proposal to recognize sales revenue when customers order and pay for the goods, rather than when they have been fitted is clearly not in line with the accrual basis and the basic principle of revenue recognition. To record the sales transaction on cash basis will lead to wrong cut-off and misstatement of sales revenue.

(c)

For the sale of product, that is the furniture and fixtures, follow the same principle as discussed in part (b). Since sale occurs when the risks and rewards of ownership are transferred to the buyer; that is, at the time when the buyer accepts delivery, and installation and inspection have been completed.

Vkeir Limited is going to subcontract the services of fitting furniture and fittings by paying a fixed sum to the approved contractors. Also, the contractors are responsible for fixing the furniture and fixtures at customers’ premises and are reliable for compensating any errors made in fitting. Therefore, the risks and rewards of ownership have passed to the approved contractors who engage in such fitting works and such services are considered to have been sold to the contractors.

Following the discussion in part (a), revenue shall be recognized in this case because the following conditions have been met:

(i)
Vkeir Limited has transferred to the contractors the significant risks and rewards of ownership of the fitting services and the company will not be involved in the service when the job has been subcontracted to contractors;

(ii)
the amount of revenue and the costs incurred in respect of the sales transaction can be measured reliably because Vkeir Limited pay the contractors a fixed sum for each job; and

(iii)
it is probable that the economic benefits associated with the transaction will flow to Vkeir Limited because costs involved in subcontracting such fitting services will be less than maintaining a service team in the company for this purpose.

HKAS 18 states that revenue includes the gross inflows of economic benefits to the entity and shall be measured at the fair value of the consideration received or receivable. In the case of Vkeir Limited, the revenue shall be measured by deducting the fixed sum paid to the contractors engaged in the fitting services from 20% of the total sales invoice value.

Answer 5

(a)

Revenue is recognised when, according to HKAS 18, it is probable that future economic benefits will flow to the entity and these benefits can be measured reliably and it is usually applied separately to each transaction. [1 mark]
In accordance with HKAS 18, revenue from the sale of goods should be recognized when all the criteria below, as specified in HKAS 18, have been met:

· the entity has transferred to the buyer the significant risks and rewards of ownership of the goods; [1 mark]
· the entity retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold; [1 mark]
· it is probable that the economic benefits associated with the transaction will flow to the entity; [1 mark]
· the amount of revenue can be measured reliably; [1 mark] and

· the costs incurred or to be incurred in respect of the transaction can be measured reliably. [1 mark]
[Any 4 out of the 5 points above, maximum 4 marks]

Therefore, revenue arising out of the transaction should be recognised by reference to the terms included in the sales contract between the seller and the buyer [1 mark] and determined when the seller has transferred the significant risks and rewards of ownership to the buyer by the transfer of legal title or the passing of possession. [1 mark]
(b)

Examples of situations in which the entity may retain the significant risks and rewards of ownership in the context of sale of goods are:

· The seller retains an obligation for unsatisfactory performance not covered by normal warranty provisions.

· The receipt of the revenue from the sale is contingent upon the amount of revenue derived by the buyer from its sale of the goods.

· The goods are shipped subject to installation and such a condition is included as a significant part of the contract which has not yet been completed by the entity.

· The buyer has the right to rescind the purchase based on a specific term in the sales contract and the seller is uncertain about the return of goods.

(1 mark for each example, maximum 2 marks)

(c)

The journal entries to record the instalment sales transaction are:

	
	
	Dr ($)
	Cr ($)
	Marks

	1 Jan 2007
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	324,484
	
	[1]

	
	Sales
	
	492,484
	[2]

	
	
	
	
	

	31 Dec 2007
	Accounts receivable
	51,373
	
	[1]

	
	Interest income
	
	51,373
	[1]

	
	
	
	
	

	1 Jan 2008
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	
	150,000
	[1]

	
	
	
	
	

	31 Dec 2008
	Accounts receivable
	36,578
	
	[1]

	
	Interest income
	
	36,578
	[1]

	
	
	
	
	

	1 Jan 2009
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	
	150,000
	[1]

	
	
	
	
	

	31 Dec 2009
	Accounts receivable
	19,565
	
	[1]

	
	Interest income
	
	19,565
	[1]

	
	
	
	
	

	1 Jan 2010
	Bank
	150,000
	
	[1]

	
	Accounts receivable
	
	150,000
	[1]
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Answer 6

(a)

The HKICPA’s Framework defines income as ‘increases in economic benefits during the accounting period in the form of inflows or enhancements of assets or decreases of liabilities that results in increases in equity, other than those relating to contributions from equity participants’. Furthermore the framework defines assets, liabilities and equity as follows:
Assets are resources controlled by the enterprise as a result of past events from which future economic benefits are expected to flow to the enterprise.
Liabilities are present obligations of the enterprise arising from past events, the settlement of which is expected to result in an outflow of economic benefits from the enterprise.
Equity is the residual interest in the assets of the enterprise after deducting all its liabilities.
HKAS 18 defines revenue as ‘the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an entity when those inflows result in increases in equity, other than increases relating to contributions from equity participants’. This effectively represents the income of an enterprise that arises in the course of its ordinary activities.
(b)

Revenue from the sale of goods should be recognised when all of the following conditions are satisfied:

(a)
The enterprise has transferred to the buyer the significant risks and rewards of the ownership of the goods.

(b)
The enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold.

(c)
The amount of revenue can be measured reliably.

(d)
It is probable that the economic benefits associated with the transaction will flow to the enterprise.

(e)
The costs incurred or to be incurred in respect of the transaction can be measured reliably.
When the outcome of a transaction involving the rendering of services can be estimated reliably revenue associated with the transaction should be recognised by reference to the stage of completion of the transaction at the balance sheet date. The outcome of a transaction can be estimated reliably when all the following conditions are satisfied:

(a)
The amount of revenue can be measured reliably.

(b)
It is probable that the economic benefits associated with the transaction will flow to the enterprise.

(c)
The stage of completion of the transaction at the balance sheet date can be measured reliably.

(d)
The costs incurred for the transaction and the costs to complete the transaction can be measured reliably.
When the outcome of a transaction involving the rendering of services cannot be estimated reliably revenue should be recognised only to the extent of the expenses recognised that are recoverable.
Revenue arising from the use of enterprise assets should be recognised when:

(a)
It is probable that the economic benefits associated with the transaction will flow to the enterprise.

(b)
The amount of revenue can be measured reliably.
Measurement

Revenue should be measured at the fair value of the consideration received or receivable. In most cases this means the amount of cash or cash equivalents received or receivable. However where the inflow of cash or cash equivalents is deferred, the fair value of the consideration may be less than the nominal amount of cash received or receivable. In such cases the fair value of the consideration is determined by discounting the future receipts using an imputed rate of interest. This rate is the more clearly determinable of:
· The prevailing rate for a similar instrument of an issuer with a similar credit rating.

· A rate of interest that discounts the nominal amount of the instruments to the current cash sales prices of the goods or services.
(c)
1.
In order for Iota to recognise revenue from this transaction, it is necessary for the risks and rewards of ownership of the land to have been transferred to the bank. There are three factors here that suggest this transfer has not taken place:

(a)
The ‘sales price’ of the land is less than its market value.

(b)
Iota is continuing to develop the land.

(c)
There is the certainity (with the existence of a call and a put option) that the land will be repurchased by Iota at the end of September 2006.
Therefore revenue recognition is inappropriate. The receipt of $10m should be shown as a financial liability and the difference between the $10m sales price and the $12m repurchase price should be shown as a finance cost over the two year period of the effective loan.
2.
Where the selling price of a product includes an identifiable amount for subsequent servicing then the transaction is effectively divided into two:
(a)
The sale of the product – recognised immediately.

(b)
The rendering of the services – deferred and recognised over the period of the service warranty.
In this case the annual revenue attributable to the servicing is $62,500 ($50,000 x 100/80). Therefore revenue of $125,000 ($62,500 x 2) is deferred and the balance of the revenue of $375,000 ($500,000 – $125,000) recognized immediately. The deferred revenue is recognised in the years ended 30 September 2006 and 2007.
3.
Where the consideration receivable is deferred, revenue attributable to the sales price, exclusive of interest, is recognized immediately. In this case the sales price is the present value of the consideration discounted by the imputed rate of interest (8%). Therefore the revenue recognised on 1 October 2004 will be $514,403 ($600,000/1·08)2). The balance of the cash receivable from the customer ($600,000 – $514,403 = $85,597) will be recognised as interest income. $41,152 ($514,403 x 8%) will be recognised in the year ended 30 September 2005, with the balance recognised in the year to 30 September 2006.
Answer 7
(a)(i)

HKAS 18 defines revenue as the gross inflow of economic benefits in a period arising in the course of the ordinary activities of an entity when those inflows result in an increase in equity, other than increases relating to contributions from equity participants. Revenue does not include amounts collected on behalf of third parties, such as sales taxes.
Revenue should be measured at the fair value of the consideration received or receivable.
(a)(ii)

Revenue from the sale of goods should be recognised when:
(i)
The entity has transferred to the buyer the significant risks and rewards of ownership of the goods.

(ii)
The entity retains neither managerial involvement in, nor effective control over, the goods sold.

(iii)
The amount of revenue can be measured reliably.

(iv)
It is probable that the economic benefits associated with the transaction will flow to the entity.

(v)
The costs incurred or to be incurred in respect of the transaction can be measured reliably.
Revenue from the rendering of services should be recognised when:
(i)
The amount of revenue can be measured reliably.

(ii)
It is probable that the economic benefits associated with the transaction will flow to the entity.

(iii)
The stage of completion of the transaction at the end of the reporting period can be measured reliably

(iv)
The costs incurred or to be incurred in respect of the transaction can be measured reliably.
(b)(i)

Where goods are subject to installation and inspection, revenue is normally recognised only when installation and inspection are complete. However, where the installation process is simple in nature revenue is recognised immediately upon the buyer accepting the goods.
This means that revenue of $250,000 from the sale of Machine A can be recognised in the year to March 2010, with $250,000 being debited to trade receivables. The cost of construction of the machine of $190,000 will be included in cost of sales.
However, revenue from the sale of Machine B cannot be recognised until April 2010, when the installation process is complete. Therefore, this machine will be included in inventory at its construction cost of $200,000.
(b)(ii)

Where goods are sold on consignment then the appendix to HKAS 18 indicates that revenue should be recognised when the recipient (Omicron in this case) sells the goods to a third party. The only way this could be accelerated under the general principles of the standard would be where the terms of the consignment clearly transfer the risks and rewards of ownership of the consigned inventory to Omicron on delivery, which is not the case here. Therefore, only those goods sold by Omicron to the ultimate purchaser prior to 31 March should be recognised as revenue. The amount of revenue that should be recognised is the fair value of the consideration payable by the final purchaser, which in this case is $240,000. The manufactured cost of the goods treated as sold should be taken to cost of sales. This amount is $192,000 ($320,000 x ($240,000/$400,000)). The commission payable of $24,000 ($240,000 x 10%) should also be treated as part of cost of sales. $216,000 ($240,000 – $24,000) should be debited to trade receivables. The cost of goods unsold by Omicron at 31 March 2010 of $128,000 ($320,000 – $192,000) should be included in the inventory

of Kappa at 31 March 2010.
(b)(iii)

For sale transactions with an option or commitment to repurchase HKAS 18 requires an analysis of the transaction to ascertain whether, in substance, the seller has transferred the risks and rewards of ownership to the buyer. If this transfer has not occurred, the transaction is treated as a financing arrangement that does not give rise to revenue.
In this case the terms of the sale leave Kappa occupying the property, with responsibility for its maintenance. Also it is highly likely that the option to repurchase will be exercised either on 31 March 2011 or 2012. Therefore, no revenue would be recognised and the ‘sales proceeds’ would be treated as a borrowing.
This means that the asset would remain an asset of Kappa and be subject to depreciation of $40,000 ($1,200,000 x 1/30). The closing carrying value of the asset would be $1,960,000 ($2,000,000 – $40,000).
The longer Kappa takes to repurchase the property the higher the repurchase price. It can be seen that this repurchase is increasing at 10% per annum compound – e.g. $3,300,000/$3,000,000 = 1·10. Therefore the borrowing is treated as a financial liability measured at amortised cost with an effective annual interest rate of 10%.
The finance cost for the year ended 31 March 2010 would be $300,000 ($3,000,000 x 10%) and the closing borrowing $3,300,000 ($3,000,000 + $300,000). This would be shown as a liability.
Answer 8
This issue is one of the timing of when revenue should be recognised in the income statement. This can be a complex issue which involves identifying the transfer of significant risks, reliable measurement, the probability of receiving economic benefits, relevant accounting standards and legislation and generally accepted practice. Applying the general guidance in HKAS 18 Revenue, the previous policy, applied before cancellation insurance was made a condition of booking, seemed appropriate. At the time the holiday is taken it can no longer be cancelled, all monies would have been received and the flights and accommodation have been provided. There may be some compensation costs involved if there are problems with the holiday, but this is akin to product warranties on normal sales of goods which may be immaterial or provided for based on previous experience of such costs. The appendix to HKAS 18 specifically refers to payments in advance of the ‘delivery’ of goods and says that revenue should be recognised when the goods are delivered. Interpreting this for Partway’s transaction would seem to confirm the appropriateness of its previous policy.
The directors of Partway wish to change the timing of recognition of sales because of the change in circumstances relating to the compulsory cancellation insurance. The directors are apparently arguing that the new ‘transactions and events’ are substantially different to previous transactions therefore the old policy should not apply. Even if this does justify revising the timing of the recognition of revenue, it is not a change of accounting policy.
An issue to consider is whether compulsory cancellation insurance represents a substantial change to the risks that Partway experiences. An analysis of past experience of losses caused by uninsured cancellations may help to assess this, but even if the past losses were material (and in future they won’t be), it is unlikely that this would override the general guidance in the appendix to HKAS 18 relating to payments made in advance of delivery. It seems the main motivation for the proposed change is to improve the profit for the year ended 31 October 2006 so that it compares

more favourably with that of the previous period.
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